Ratio to ATLAS

=
o

[EEY

0.5

Jet pT (anti-kT(O.4))

.
55
il |
Ty
B ATLAS \G::&{ """""" .

--3-- Herwig 7.2.0 default EL [ |
..... ¢+ Sherpa 2.2.5 default ;:::::'

7000 GeV pp Jets
T

IIII|IIII|IIIIIIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIWI_

: é
(AN 8 o¢ : . o
oar ’ ________ ’ T
- - Y .
T : . ¢ N
Pl b t HARR :
- T i i . T
I I ’ i
\ 1 H % H
- \ :
TN n [, ¢
1 ~
Y pan ’| R |
1 ) s ’ 1
\ 1 v ’ 1 o ]
LoV, ) N |
= 1 \ I H
vos | ’ ~
e \ 1 ~
: I
o
| 1 Al 1 1 1 4

v
40 60

track jet P, [GeV]

|
80

Rivet 3.1.0, = 5.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


